SAMPLE QUESTIONS

1. What *flows' in a wire? (+BEEELRF “

;\ﬁ-%” ?
®

4+ o:900%00%00%00% —
Battery ﬂii. ﬁii. ﬁf. .+6*. ﬂﬁi' Battery

Atoms of the Conductor

A.Protons & F
C.Atoms 5

B.Neutrons H1+-
D.Electrons Z&F

2. Electromotive Force is the same as... &

A.Voltage ZEJER
C.Resistance Z&[H

B.Current & )it
D.Wattage F.#4

3. When is a battery truly dead? &1 EE
RMEEIGET ?

y”

A.When all the electrons on one side make it
to the other side &—{{IIfYFT A & FH 2722
S5 —fHIHEF

B.When there are the same number of
electrons on both sides. & Wi & 8 18 AHE]
A o

C.When somebody licks it and then there's
nothing to live for. So humiliating. =& A ¥R
B BUSAEMTERVEN T o KREANT
D.When it's really cold ‘& & 78 % HYHEH %
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4. Which equation can be rearranged to
calculate the the electric current given? |]

DAy I 52k T R 4E BRIV R 2
Al=Q+t B.Q=lt
C.I=Qt DI=t+Q

5. Sound waves are Bz
A .transverse waves. fE 7 o
B.longitudinal waves 457
C.circular waves. [E]Jf7 °
D.polarized waves. fix{ER7 ©

6. The crest is in position LA 7>

AA
C.C

B.B
D.D

7. Wavelength is measured at position JfF&
AL EHAE

4
o 1 — '

Al
C.3

B.2
D.4

8. What is the transfer of heat by
movement of liquids or gases? {1 &S

RS R EE IR RE 7
A.Radiation #g5+f
B.Convection ¥}
C.Conduction {&%&

D.Heat
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9.What is the measurement of the average

kinetic energy of a substance? /& /1y
BIREV BT ?

A.Kinetic energy EfgE

B.Temperature J& &

C.Thermal energy Zi&E

PARNY

D.Potential energy Z4§E

10.When the temperature of
atter decreases the particles ... E¥7/&8/58

JERREARAL ...

Water Phase Change Graph

A.speed up and move farther apart fjlI#E 1%
EES b

B.speed up and move closer together fj17R 3
SERFEIT

C.slow down and move farther apart j5{&##
R

D.slow down and move closer together (&
G SES AT

11. Heat ALWAYS moves from ZiE4&2
na

A.Low to High Temperature {&;5 21 = 8
B.High to Low Temperature =& FIHE 5
C.It doesn't move &

D.High to Low Pressure = FRZI|{EBR

12. A ball of mass 200g falls from a height

of 5m. What will be its kinetic energy when
it just reaches the ground? g = 10 N/kg

—{EEE R 200 32(9 )HIERIER RS T
53K(m) - ERIZEBEREVEIREE S/ ? 9
=10 AR/ 5

A.100J B.10J
C.9.8J D.98J
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13. A body of mass 50kg has a momentum
of 3000 Kg.m/s. Calculate its Kinetic

energy and velocity. B & & 50kg FYYIRE E
A 3000 Kg.m/s NEI&E - FHEHEEIRENZR
fg o

A.90000J and 60m/s
C.6000J and 630m/s

B.900J and 60m/s
D.90000J and 6m/s

14. The Work Done by the Centripetal
Force for a Body Moving in a Circular Path

is (B A Eh e (=)0 T i
(G

A.Negative & B.Zero &
C.Constant [A7E D.Positive 1F

15. The figure shows a uniform metre rule
pivoted at the 50cm mark. 125g and 200g
weights hang from the rule as shown.
Calculate where you would hang a 25g
mass in order to balance the rule

horizontally 3% EIfER T #E 50 EDKEEECE
IEEHIS—KR - MBS 0 125 A
200 SEHVESISREER T £ - STRGRR
# 25 SEEYIHILE - DUEAKE A

40cm 20cm

5 A O

1259 200g

A.20 cm from pivot on the side of 125 g mass
£ 125 i’ =AY — BT 20 [EoK
B.10 cm from pivot on the side of 125 g mass
£ 125 5¢ B2 Y — IR 10 [EoK
C.40 cm from pivot on the side of 200 g mass
1 200 v/E 2 HY—HIEER] 40 [EOK
D.10 cm from pivot on the side of 200 g mass
£ 200 v/E 2 HY—HIEEE] 10 EoK
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16. Jack has a weight of 300 N and sits 2.0
m from the pivot of see-saw. Jill has a
weight of 450 N and sits 1.5 m from pivot.
Who will move down? £ EE & & 300 N

» FEREBRBRAN AR 2.0 m - HEAVAEE
R 450 N - FEEEMES: 1.5 m - G TR ?

A.Jack £ETE

BJIlSE

C.Both of them {9 &L=
D.None of them f{fHHENAR &

17. The impulse-momentum theorem states
that AkErEIE e N

A.the impulse on an object is equal to the
change in momentum it causes #JE&<Z EI1Y
ErEFNES EVEIEE(L

B.the force on a moving object is equal to the
magnitude of the impulse. ZEENEE T2 /Y
TR EREAYRN -

C.the impulse on an object is greater than the
change in momentum it causes /8% %y
ErE AN REEEE(L

D.the impulse on an object is less than the
change in momentum it causes #7521y

B/NRESHERBIEZE

18. Army tank tracks are useful for
travelling through the mud because.... FEE

HEETHEREREFTRREM B

A.they decrease the force the vehicle exerts on
the ground & (TR D T B e A S [ b
iOpa|

B.they increase the force the vehicle exerts on
the ground ‘& {4 A0 T~ Bt H0AF S _E
iOpa|

C.they decrease the pressure the vehicle
exerts on the ground B/ D T SRt 14
i _EAYER )

D.they increase the pressure the vehicle exerts
on the ground ‘& {F5E 11 T Ha.8 S5 40 T e
HIER ]
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19. Which of these animals would probably
cause the greatest pressure on the ground?

ELEY T — R M RE R S B R
BRS3?

A.A fat cow with big feet —FE A RIAVAEA-
B.A fat cow with small feet fE4=/]\Hdll

C.A calf with big feet —BE A Y/ N
D.A calf with small feet /|NJAIEY/NE

20. If a boomerang is thrown 20 m in a
straight line and returns exactly to the spot
it was thrown what is its displacement? %1

SRR S s B 20 SR ZERER(E]
FWHRE - B ES/D ?

A.20m >k

B.40m >k

C.0m £

D.-20m >f&

21. Calculate the quantity of charge, Q,
obtained when a current of 35 amps runs

for 2 minute in C? 5+&E 35 ZHE R
C {7 2 rEREGHERE Q?

Answer (in number) & (B =% ) :

22. What is the Average Power Required to
Lift a Mass of 100kg to a Height of 50m in
50 Seconds in Watt? g=10 N/kg

Write answer in number

£ 50 FOAURE 100kg RYE EHEF2] 50m Y
= EF AP THRES DR ? 9=10
AHTF 5

HBFREE

Answer (in number) & & (B )
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23. Find the distance: Sara walks from A to
B, B to C then C to D in meter?
Write just answer in number.

s ErEEE - Sara it AZP{TEI B> BE|C >
IREUE CEID > DK By BaAr 2
RaZ#HE - -

5m

5m

Answer (in number) EZE (B¢ )

24. Jack is pushing a box containing his gift
for his Valentine. The box accelerates at a
rate of 5ms-2 when Bob applies a force of
30N.

Assuming he is pushing on a frictionless
surface, how heavy is the box containing
his gift in kg?

Write just answer in number.

BErEE e T EEEEMALEA
H#EY) - ‘E Bob JEhn 30N WHKE » &F
LA 5ms-2 BYZRRENNEE -

et E RN R E LIRS - AT A
By SEF YN EFESE"?
HEEFEE -

Answer (in number) EZE (B¢ ) :

25. A golf ball accelerates off a tee at 10
m/s?, changing its velocity from 30m/s to
120 m/s down the fairway. How long did it
take the golf ball to accelerate in second?

R REREL 10 m/s® RYZREHERH S BRI -
SBRIBRYEEERE 30 m/s & h 120 mis - &
BIRBRUBD R B MR FE S RINH ?

Answer (innumber) &XE (8¢) :
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